COMMON ENTRANCE TEST - 2017
DATE SUBJECT TIME

03-05-2017 PHYSICS 10.30 am to 11.50 am

MAXIMUM MARKS TOTAL DURATION MAXIMUM TIME FOR ANSWERING

60 80 Minutes 70 Minutes
MENTION YOUR CET NUMBER QUESTION BOOKLET DETAILS
VERSION CODE / SERIAL NUMBER
XXXXXX

DOs :

]

Check whether the CET No. has been entered and shaded in the respective circles on the OMR Answer Sheet.

2. This question booklet is issued to you by the invigilator after the 2™ bell i.e., after 10.30 am.

The Version Code / Serial Number of this question booklet should be entered on the OMR Answer Sheet and the
respective circles should also be shaded completely.

4. Compulsorily affix the complete signature at the bottom portion of the OMR Answer Sheet in the space provided.

1

DONTSs :
1. The timing and marks printed on the OMR Answer Sheet should not be damaged / mutilated / spoiled.
2. The 3" Bell rings at 10.40 am, till then;
® Do not remove the seal present on the right hand side of this question booklet.
e Do not look inside this question booklet.
e Do not start answering on the OMR Answer Sheet.
IMPORTANT INSTRUCTIONS TO CANDIDATES

—

This question booklet contains 60 questions and each question will have one statement and four distracters.
(Four different options / choices.)

2. After the 3 Bell is rung at 10.40 am, remove the seal on the right hand side of this question booklet and check
that this booklet does not have any unprinted or torn or missing pages or items etc., if so, get it replaced
immediately by complete test booklet by showing it to Room Invigilator. Read each item and start answering on
the OMR Answer Sheet.

During the subsequent 70 minutes :

lrd

e Read each question carefully.

e  Choose the correct answer from out of the four available distracters (options / choices) given under
each question / statement.

e  Completely darken / shade the relevant circle with a blue or black ink ballpoint pen against the
question number on the OMR answer sheet.

Correct Method of shading the circles on the OMR Answer Sheet is : @ . @ @

4.  Please note that even a minute unintended ink dot on the OMR Answer Sheet will also be recognized and
recorded by the scanner. Therefore, avoid multiple markings of any kind on the OMR Answer Sheet.

5. Use the space provided on each page of the question booklet for Rough Work. Do not use the OMR Answer
Sheet for the same.

6.  After the last bell is rung at 11.50 am, stop writing on the OMR Answer Sheet and affix your left hand thumb
impression on the OMR Answer Sheet as per the instructions.

7. Hand over the OMR Answer Sheet to the room invigilator as 1t is.

8.  After separating the top sheet (KEA copy), the invigilator will return the bottom sheet replica (Candidate’s copy)
to you to carry home for self evaluation.

9.  Preserve the replica of the OMR Answer Sheet for a minimum period of ONE year.

10. In case of any discrepancy in the English and Kannada versions, the English version will be taken as final.

Page: 1 .
colleSedunia:

India’s largest Student Review Platform




A substance of mass 49.53 g occupies 1.5 em?®

of volume. The density of the substance
(in gem®) with correct number of significant

figures 1s
(A) 3.302 (B) 3.300
(O 3.3 (D) 3.30

Quesfion id: 1

A car moving with a velocity of 20 ms™! 1s

stopped 1n a distance of 40 m. If the same car
is travelling at double the velocity, the distance
travelled by it for same retardation is

(A) 640 m (B) 320 m
(O 1280 m (D) 160 m

Cuestion i 2

The angle between velocity and acceleration of
a particle describing uniform circular motion 1s
(A)45° (B) 60 °

(©90° (D) 180 °

Questionid:3

If A=2i+3j +8k is perpendicular to

B = 47— 41 + ak, then the value of ‘o’ is

A) 1 B) 1
2 2
© 1 ®) -1

Quesfion id - 4

A body of mass 50 kg. 1s suspended using a
spring balance inside a Ilift at rest. If the hift
starts falling freely, the reading of the spring
balance 1s

(A)=50kg
(O) <50 kg

(B) > 50 kg
M) =0

Cuestion kd: 5

49.53 g T3,53,0990000¢ 2,000 @AY 1.5 em® SR
MoZ,e00, TR, B3 [T 0T,8

(gem™ I9) ooIRT WP @prer  ©oING
Clplevicing
(A) 3.302 (B) 3.300
(©) 3.3 (D) 3.30
Question kd: 1

20 ms™! FenmQ WBAROSTOR % 0T F2T0 40 m TRT
BNWPTTY,  ARIT. wde W,  8Te
DEMTERFTIY, WATOT DeNT FTEORY, VNI
BOATIT T30 B,8030T WRTDY SNTVIST.

(A) 640 m
(O 1280 m

Cuestion d: 2

WOTD  BERY DTORT  [BOFRTOT  WBOSODIY
ITF&RROTON, SWO  Jen WY FNRESHFNY

SIS IRETY SNTOSTS.
(A) 45 ° (B) 60 °
(C) 90 ° (D) 180 °

Questionid: 3

A=2i +3) +8k o3® E:43—4;—|—{1f{ i

OOWWINGT, ‘o' WUWS SNTOST.
A 1 B) 1

2 2
© ! (D) -1

Cuestion kd : 4

50 kg B3 09S000F  wOTD  WANRDI), WOTO
BT SODQTOT GUSITFTY A 0N T,AT FZCDO0T
3R ToBRNT. SV TF) 00N

&3]

WEYTTORRITT, JON TR0 EREOROT [RTTIY

_____ Clpleviciag
(A) =50 kg (B) > 50 kg
(C) <50 kg (D) =0

Cuestion id: 5
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6.

10.

A motor pump lifts 6 tonnes of water from a
well of depth 25 m to the first floor of height
35 m from the ground floor in 20 minutes. The

power of the pump (in kW) is [g= 10 ms2]
(A) 3 (B) 6
© 1.5 (D) 12

Cuestion id : 6

Two balls are thrown simultaneously in air.
The acceleration of the centre of mass of the
two balls when 1n air,

(A) depends on the masses of the two balls
(B) depends on the speeds of the two balls
(O) 1s equal to g (Acceleration due to gravity)

(D) depends on the direction of motion of the
two balls.

CQuestion d : 7

The value of acceleration due to gravity at a

depth of 1600 km is equal to

[Radius of earth = 6400 km]

(A) 98 ms™ (B) 49 ms™
(©) 19.6 ms™ (D) 7.35ms™?

Cuestion ki : 8
“Young’'s modulus’ is defined as the ratio of
(A) tensile stress and longitudinal strain

(B) hydraulic stress and hydraulic strain
(O) shearing stress and shearing strain

(D) bulk stress and longitudinal strain

Cuestion id: 9

‘Hydraulic lift’ works on the basis of
(A) Stoke’s law (B) Toricelli’s law

(C) Pascal’s Law (D) Bernoulli’s Law

Cuestion i : 10

10.

0T TRCEIVTT TWOT® 25 8. STATOW WO,
S EDENQDLJ 35 s‘:o\ ABOTYTOT BT woéﬂﬁ 6
RN ri%ﬂwa thﬁab 20 wmwﬁ@;@ cbéaécf =t MDEE ]

"—aef:ozﬁ = ( kW rie;@o) dﬁd@cﬁ [g = 10
ms2]

A3 (B) 6

(© 1.5 (D) 12

CQuestionid: 6

0T ﬁomﬁ%ﬂa‘% 2.003¢ ﬁmﬁ; goievelJ] zsag/mﬁd.
T Q0R BoRoNY B,3,008 Fe0T, T ﬁ@mwﬁr@
MoYog

(A) Q0T 23"0233?‘1@5 @%Dﬁ%r‘i@‘ oees
VOORATOTT

(B) TR Borone Jenng  (speed) &
STWOOWATOZT

(C) g (MOTOZ, ai-smqm?) 1 FEOTNTOST

(D) RO Borong WoSed BN 200

ﬁﬁamaﬁﬁumgcﬁ

CQuestion id: 7

1600 km S$3, rbdsa ﬁer{mm?a e3e3o3o0
n *aﬁsmﬁdﬁcﬁ [zd.ra&aa:b &%, = 6400

km]

(A) 9.8ms™ (B) 49 ms™

(O) 19.6 ms™ (D) 7.35 ms™*

Cuestion d: 8

OO T TR0 B[IY, B3 VBT BROTOTIOD
(A) P08 T8
(B) B3O8 T8 0 E
(C) STTRTED T, W0 WV BTTRTED T8
(D) T8, TSN B SVOTFH, F 28,8

CQuestion ld: 9
‘Bowds ram%ﬁmﬁﬁ’ D) VBT, BHOA BOX WRTIBT
(A) TEJQM’EE:,R'S QOIT (B) ¢R0FQ0D LoD
(C) TRY* T QoW (D) WRPFDOID QO

Question id: 10
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12.

13.

14.

15.

The S.I. unit of specific heat capacity is

(A) Jmol™ K™ (B) Jkg'K?

© K1 D) Jkg™

For which combination of working
temperatures, the efficiency of ‘Carnot’s
engine’ 1s the least ?

(A4) 60 K, 40 K (B) 40 K, 20 K

(O 80 K, 60 K (D) 100 K, 80 K

Cuestion Id ;12

The mean energy of a molecule of an ideal gas
18

A B) 3
(A) 2 KT ®) 3.
2
D
(O KT (D) %KT

Question id: 13

Two simple pendulums A and B are made to
oscillate simultaneously and it 1s found that A
completes 10 oscillations in 20 sec and B
completes 8 oscillations in 10 sec. The ratio of
the lengths of A and B 1s

(A) 8 B) 64
5 25
© 5 D) 25
4 64

Cuestion Id ; 14

The waves set up in a closed pipe are
(A) Transverse and Progressive

(B) Longitudinal and Stationary
(O) Transverse and Stationary
(D) Longitudinal and Progressive

Cuestion Id ;15

1.

12

13.

14,

15.

NOF, NOF WGP FT S ROTRIY)
BNTOTT.

(A) Jmol* K™ (B) jkg 'K

© JK? D) kg

‘TooftE 0BT T cjiié | YRS oW
Hocdrentd) ©98 &R0 |TIBE ?

(A) 60K, 40K (B) 40K, 20K

(©) 80K, 60K (D) 100 K, 80 K

Cuestion bd ;12

WOTL BTWIF LT LoD BT ATIRO JBOID

_____ BNTOTT.
A) 2 KT B
(A) ®) 3.
2
KT D
© (D) %KT

Cuestion kd ;13

RO ITY dReUINTIT A T3 B wode E@ﬁﬁ
wodmwﬁ:ﬁﬁgt STORAT et A 20 FFORN 10
e;sodmwssmfﬁoﬂt Tonp creesB 10 XFoRM™ 8
womf@zsmfsﬁ:gt SONTORT FORY WONT. TormeRT

AP B MY TN SISy SNTOST.
(A) 8 (B) 64
5 25
© 5 D) 25
4 64

Question kd: 14

WOTL  FOR[T  TRYRODY, LVOERMOE WU

(A) BDTT T TR (B) BT, ¢ 0B AT
(C) DT T WB AT
(D) SOTF, & T TR

Cuestionid; 15
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16.

17.

18.

18.

20.

Two spheres of electric charges +2 nC and -8
nC are placed at a distance ‘d’ apart. If they are
allowed to touch each other, what is the new
distance between them to get a repulsive force
of same magnitude as before?

(A) 4d B) 3d
3 4
©d ® d
2

Cuestion Id ;16

Three point charges of + 2q, + 2q and - 4q are
placed at the corners A, B and C of an

equilateral triangle ABC of side 'x'. The
magnitude of the electric dipole moment of this
system 1s

(A) 2qx B) 2./3qx

(O 3@({1 (D) 3 qx

Cuiestion kd 17
4 % 10'° electrons are removed from a neutral

metal sphere of diameter 20 cm placed in air.
The magnitude of the electric field (in  Nc-?)

at a distance of 20 cm from its center 1s
(A) 5760 (B) 1440

(©) 640 (D) Zero

Cuestion Id ; 18

Two point charges A =+3 nC and B = +1 nC
are placed 5 cm apart in air. The work done to
move charge B towards A by 1 cm s

A) 1.35 x 107] B) 2.7 x 107]

(©20x 1071] D) 12.1 x 1077

Cuestion Id ;19

A system of 2 capacitors of capacitance 2 p F
and 4p F i1s connected in series across a
potential difference of 6V. The electric charge
and energy stored 1n the system are

A 10pCand30p)] B 36uCand 108 plJ

O8uCand24p)] M 1pCand3 pl

Cuestion Id : 20

16.

{ 728

18.

19.

20.

QO fpeonsd +2 nCIWIBY -8 nC AW
STEINTTY, TRODT, B[ "cl’ DO 03TTY
DTBTING. :@mfﬁo ,-aé oIRw TRR

©0ZTTDATT Eﬁsgjrw SR BEBFRFED WO
TomReD ﬁmzﬁ@ﬁﬂwzﬁ@zﬁ ?

(A) 4d (B) 3d
3 4

© d D) d
2

Question kd: 16

AT WOT DT, T BRESNYIT + 2q, + 2q T3 -
4q NP, WRTINT LV 'x' AT 2,000 AWOWIT
&,50% ABC 030 a0t s0edneet A, B &80 C 39
ﬁ:oasaﬁ QORINT. B T, :ﬁﬁod:a QT 3 Qg 3

%, ai:éocb TOWRERY Eﬁﬁdﬁﬁ
(A) 2qx B) 2./3qx
© 3,\/5 qx (D) 3 qx

Cuestion kd: 17

20 F0.s0e. mﬁ?s&dm 2,003 3&3% ReTnRS DO
4 X107 QTR DA TRTSAD MICDY

VRUING. ©WTWT Feow,Q0W 20 X0.e. WRTUTY
W,TF TEPT TO:eed  (NCTP Q)
SNTOST.

(A) 3760 (B) 1440

() 640 (D) AT

Question id: 18

QT WOTH VT, SReSRTIT A = +3 nC T3 B
= +1 nC&Y na%»ods@ 5 c¢m fsﬁo*éc‘SrEchéejaﬁcﬁ
Nabkoy 3533 B oDZ) 1 cm ST A I 3@ BOKED
egoros SR ﬁﬁﬁdsgcﬁ

(A) 1.35 X 10—?_]_—_—(]3) 2.7 %X q0-7J

(©2.0x q0-7J (D) 12.1 X 49-7]

Question id: 19

QO DTW,T* FITINY o082 L F a2 4 uF o
A 2;3;@\:355 $ a“'“odsais 6 V Q00300 IR0
HeRnEd, B 3, ﬁloda@ BDTHT DT, TF

SRB DR TN SNCOZS.
(A) 10 CeﬁnagsouJ (B)ssucm@msuj
(© 8 Cxo2024 ) )1, C=23 ]

Question id: 20
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21. The minimum value of effective capacitance

22.

23.

24.

that can be obtained by combining 3 capacitors
of capacitances 1 pF, 2 pF and 4 pF is

A B
@ 4 B) 1 pF
7
D
(©) %pF (D) 2 pF

Question id : 21

A cylindrical conductor of diameter 0.1 mm
carries a current of 90 mA. The current density

(In Am?) 1S (m=3)

(A) 1.2 x10° (B) 2.4 x10’
) 3 x 10° D) 6 x 10°

Cuestion ki : 22
A piece of copper is to be shaped into a

conducting wire of maximum resistance. The
suitable length and diameter are and

respectively.
(A) Land d

(O L/2and 2d

B)2Landd
(D)2 L and d/2

Cuestion i : 23

Of the following graphs, the one that correctly
represents the I-V. characteristics of a ‘Ohmic
device’ 1s

A) | B) 1
© | D) I k
Vv —>V

Cuestion Id : 24

ol

22.

23.

24.

1 pF, 2 pF&0d38) 4 pF Goosdodd) Teolodss 3

&)c:b:-se Cro‘ﬁﬁ%fm TOOIRENMNNAYA TBEOIWIDITH
%wammma @D‘ﬁ@m _____ SNTOTT.
A) 4 (B) 1 pk
7
© 7 (D) 2 pF
i

CQuestion id: 21

WO RADOBT* $FTTH W[oHdIL xana:g;.o 1 mm
BN, BT 90 MA QTS mmm TROQTOTT.

YWT AW,T T ""aoz;f’e? (Am'z 39) oxo
______ Eﬁﬁdﬁ)gd. (ﬂ£3)
(A) 1.2 x107 (B) 2.4 x107

(© 3 x 10° (D) 6 x 10°

Cuestion Id ; 22

WOTR B, 330@"333 ﬁt’a% CRETWTIT é}cﬁo =
S0RT éoéoi:raﬁ Hﬁdﬁf‘%ﬂ&j’ FoNG. 2300 Emzj a’:o@b
=022 CTjlorAle. o8

DNDRSTARES

©L/2=0=02d (D) 2 Lo d/2

Question id: 23

B3 FINT FFMPY, CWTITO 20T WiF TGFT T
[ -V oo8£38:83) R00dRN Re0RIT ?
A | B) |

(D) !

f

CQuestion id ; 24
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25. The value of I in the figure shown below is

20 A 4A
Y5 A
JA 1
(A) 8A (B) 21A
(©) 19A (D) 4A

Question Id : 25

26. The power dissipated in 30 resistance in the

following circuit s

4 Q
(A) 0.75 W B) 0.25 W
O1W M 05 W

Cuestion Id ; 26

In metre bridge experiment, with a standard
resistance 1n the right gap and a resistance coil
dipped in water (in a beaker) in the left gap,
the balancing length obtamned 1s‘l’. If the
temperature of water i1s increased, the new

27.

balancing length 1s
(A) >1] (B) <1
O =1 D) =0

CQuestion i : 27

28. A proton, a deuteron and an o - particle are

projected perpendicular to the direction of a
uniform magnetic field with same kinetic
energy. The ratio of the radii of the circular
paths described by them is

(A) 1:42:1 B) 1:42:2
© .J2:1:1 M) .Jf2:.2:1

Cuestion Id ; 28

o5 TET SRCOATORN W, Eﬁ@_j, I af@@_;ag DI ?

20A 4 A
Y5 A
3A I
(A) 8A (B) 21A
(C) 19A (D) 4A
26. EIrt SReOATLT ATFOBOTY, 30 TRTTY
053, £ 0TV DO, € BNTOTT.
45V, \«é
1 Q N
4Q
(A) 0.75 W (B) 0.25 W
1w (D) 0.5 W

Cuestion id : 26

QLT W, T T, C3ReNTE WONECN 30 WNTY
oveb dra\a*dsb TN E’JEGS@ SOFONRT [ma‘oﬁ
89 @ﬁtﬁaﬁmcﬁ) SRS NJGJ@CdJc—\b RWLIONT

30NRY. eeBATIN IROZRCVT BRTH) ’l’ SNTVTT.
20T wﬁgcdnmq é?.sw?mc? TR AWIBRCVT TRTD)
BNTOTT.

27.

B) <1
(D) =0
Cuestion id : 27

WOTD TR, EPT°, 2WOTD céﬁaca'? B womo A -
ﬁs*::uri%fm WO NTTRT anéﬁez T 200 zSeﬁ
séoi@oﬁrf 0N aﬁaﬁse:aﬁzﬁ @ﬁﬁo 2ReOR
ﬁaaaadw TNy 3%, i EIROTOSR)
d‘ﬁtbéﬁ _____

28.

A) 1:42:1 B) 1:/2:42
© J2:1:1 D) ./2:.2:1

Cuestion id: 28
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29.

30.

31.

32.

A galvanometer of resistance 50 Q is connected
to a battery of 3V along with a resistance of
2950 q in series shows full-scale deflection of
30 divisions. The additional series resistance
required to reduce the deflection to 20
divisions is
(A) 15000
(&

(B) 44400

7400 0 (D) 29500

Cuestion Id ; 29

The magnetic field at the center of a current
carrying loop of radius 0.1 mis 5./5 times

that at a point along its axis. The distance of
this point from the centre of the loop 1s

(A4) 0.2 m B) 0.1 m
(O 0.05m D) 0.25m

Cuestion i : 30

A straight wire of length 50 cm carrying a
current of 2.5 A 1s suspended in mid-air by a
uniform magnetic field of 0.5 T (as shown in
figure). The mass of the wire 1s(g= 10 ms™?)

>
|

X B
(B) 250 gm
D) 100 gm

(A) 62.5 gm
(O) 125 gm

CQuestion i : 31

Which of the following properties is ‘False’ for
a bar magnet ?
(A) Its poles cannot be separated.

(B) It points in North-South direction when
suspended.

(O) Its like poles repel and unlike poles attract.
(D) It doesn’t produce magnetic field.

Cuestion Id : 32

29.

30.

31.

32.

20T 50 Q TREFDTOT Mo, OFPE VT, 2950 Q
eicafatolelalyislel. wor:;cﬁ@ 3V mss ﬁ@ﬂ@wmﬁ
30 AONS Tpor 9T TRTEITJI, éf\eamoréd T30 20
nony STRTENRIIY, 3Re0ROR0Z TREY TR
IO wOéEffafE;'Zﬁ edgodo Slplevking

(A) 1500 0 (B) 44400
©)

7400 O (D) 29500

Cuestion id ; 29

DT FIRTHRY, BRODTE  0.1m &% ITOB
WO  WDFO  RTOPCL  Feow,  WOTATYS
50T,y VWO ©FT WOITYT 52088 T

5./5 1 FTINTIBT. TMOTTS B3 WOy BOTHPOD

Fe0T, WOTRNOT BRTTIT.
(A) 0.2m _——_(]_3) 0.1 m
(C) 0.05m (D) 0.25 m

Cuestion id: 30

2.5 A &)cx S Toed TROQTOT 50 cm mdcj 2,003
Zed 3@5{:@353 0.5 T LITRI Foﬁéw 39 m@cds@

ZTRRIROS  BRBT (B,T9 éﬁemdamé) =)
30801 @%Dﬁém BNTT. (g =
10 ms™?) I

X B
(A) 62.5 gm (B) 250 gm
(C) 125 gm (D) 100 gm

Cuestion id: 3

%WOTH TOBTORET B3 FENT MOOTRFNTE CIRFYT0

Q) ?
(A) STT Z,[AIRY, 16T TRTBLO T, Y,

(B) STIY SRTOWERN wVIT - TEED QI 0D
DREIZT

(C) AP0V TO,IMED BAFATH T TS0
30, WNY0 SFRFRIBRD

) 9% B mowERRIaY,

Cuestion id: 32
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33.

35.

36.

A magnetic dipole of magnetic moment
6 x 107 Am* and moment of inertia

12 X 10°® kgm? performs oscillations in a
magnetic field of 2 x 102 T. The time taken

by the dipole to complete 20 oscillations 1s
(= 3)

(A) 36 s
O 125

(B) 6
D) 18 s

The susceptibility of a ferromagnetic substance
18

(A) >> 1
O <1

(B) > 1
(D) Zero

Cuestion id ;34

A bar magnet 1s allowed to fall vertically
through a copper coil placed in a horizontal
plane. The magnet falls with a net acceleration

S

N
A)=g B)>g
©O<g (D) Zero

Cuestion Id : 35

The working of magnetic braking of trains is
based on

(A) Alternating current (B) Eddy current

(O) Steady current (D) Pulsating current

Cuestion Id ; 36

33.

35.

36.

6 X 1072 Am* 08 R,TF VA 12 x 10°°
kgm? HES  PIIONT)  BRODWWE WO
DleENeve I ST AV DY 2x10% T O30T
T08T T, BOTRLVTHIY, SROROST. BT 20
tfociraw.ﬁri@a‘g{ TREFNRTICD @ﬁcﬁaﬁmﬁﬁ TOOW)
_____ BNV,  (m ~ 3)

(B) 6
(D) 18 s
Question kd:33
20T FURE F0Se0D TRV FoOT )33, 8030
(A)=>1 (B) > 1
© <1 (D) AT

Question id: 34

20T '&u?ﬁf@?b AROBOTQDATORW Tw, T AOTOPOL
3BEN, 20T FOBTIOTWY ©0WoN wﬂ@;’aﬁoa’ BRRT.
FOBTORT  WOTow0ToO aferifaeéé TR

SNTOST.

S

N
(A) =8 (B) > 8
© <8 (D) RRF,

Cuestion id: 35

o;mﬁe; F20800%0 U, NE0 oim@cﬁﬁ:;{ S0 BOX
TRTIZR 20TT
(A) TC3IF O ei)EﬁJES@‘ X, 20P

(B) 2&, éDCSJﬁEG X, 20P
(©) A T VT, T T, 0w
(D) B OTTIRO T, T T,w0H

Question id: 36
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37.

38.

39.

A jet plane of wing span 20 m is travelling
towards west at a speed of 400 ms-1. If the

4 x 10* T and
the dip angle is 30¢°, at that place, the voltage

earth’s total magnetic field 1s

difference developed across the ends of the

wing 18
A 1.6V B)32V
008V D64V

Cuestion Id ; 37

In the A.C. circuit shown, keeping ‘K’ pressed,
if an iron rod is inserted into the coil, the bulb
in the circuit,

Rod
@ Illllllllll

Bulb Coil
(=) —
) ‘{l
AC
(A) glows more brightly

(B) glows less brightly

(O) glows with same brightness (as before the
rod 1s inserted)
(D) gets damaged

Cuestion Id : 38

The output of a step down transformer 1is
measured to be 48 V when connected to a
12 w bulb. The value of peak current 1s

A 1 A B) HA
sl
© 1 D) 1
A
2442, 4‘ﬂL

Cuestion i : 39

39. 2,003 VP8 ﬁ@ﬁérﬁaﬁ@

37. 20 &0¢. TT, VOTV AR T° TRODTO woTsd 3 T L'

400 ms™ RENTY, T QDIN WORET. © TITQY
WRCL i), T2038eE, 4 x 107 T Toniw (dip
angle) 590838 30° BNTY,, W Fe* I Qo' N
HONY. YVoETTOT ok o030
BNTOTT.
A)Ll.6V

(© 0.8V

B)32V
(D) 6.4V

Cuestion Id ; 37

38. 9Q BRCOATOTVA.C. AW,FoBOTY,, I3FT 3¢ K’

ONT), W LRTTROW), WOT FWHW ITYS)
ADTVPCL w¥ IROATIN, WOBLTATLT DeTR)

p1te]b)
@ lfffmwm

e RITO¥
o P
N K
AC

(A) ﬁ%@ﬁ5m3mm§ﬁ

(B) TR T, 5o3XTwoNn0ZT

(C) DT T,ToTTRT BROOTITT (FTYTY, S0
(D) TV

Cuestion id: 38

12W @eaﬁﬁ DOTEEATN

©G0  BROTHEDDE AT owmas Vv
RYTRNTOTS. TmES 3,08 A8, B mmw
@ 1, B) A
J2
© 1 D) 1
22 A 4A

Cuestion id ; 38
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40.

41.

42.

43.

1 / ﬁ Q Elﬂd

resistance 1 Q 1s connected to a 200 V, 50 Hz
A.C. supply. The time lag between maximum
voltage and current 1s

A coi1l of inductive reactance

W 1 ® 1
300 600

© 1 ®) 1
500 200

CQuestion id - 40

If E and B represent electric and magnetic

field vectors of an electromagnetic wave, the
direction of propagation of the wave is along

A E ®) B
€ ExB ® B x E

Cuestion id ;41

According to Cartesian sign convention, in ray
optics
(A) all distances are taken positive

(B) all distances are taken negative

(O) all distances 1n the direction of incident ray
are taken positive

(D) all distances in the direction of incident ray
are taken negative

A linear object of height 10 cm 1s kept 1n front
of a concave mirror of radius of curvature 15
cm, at a distance of 10 cm. The image formed
1S

(A) magnified and erect

(B) magnified and inverted

(O) diminished and erect

(D) diminished and 1inverted

Cuestion ;43

40.

41.

42.

43.

1/+/3 QIR &,e08 F,&5708 303 1 Q SREGIT
2,003 mdj@ojaa‘%zoo V, 50 Hz A.C.mfwﬁﬂ
wWReBRONG. rit)—»—-*,% @cﬁaﬁae NVEENOY @cﬁoﬁ@ﬁ

TWTNY DRWT ToOT BoSTY SNTOTT.
a 1 . B) 1

300 600
© 1 . D) 1

500 200

Question id : 40
2,003 T, T F08eoD BN E &3 B 25T
3eZ, B TOTFEI, N, BAWROT FOSNPRNTY,,
e300 Bodod QBY, AGF TTOMITYT 0INTITOOT
Q0TT

@A) F B) B

O ExB ® B x E

Cuestion kd ;41

TREFACDT B¥F  QONIVT  HFT,  §TD
30, 8T0R T,

(A) VO, TRTNTD), TTFT 0T TOMETIRROITT
(B) ¥, TRTNTT), 90T T 000 TOMNESHTNOZT

(C) DL, TRTNIT) T $TeT 63%5@; PTIT Q0T
TONEIROMIBT

(D) *Q, TROMYS TSI 30T QITQ, 9DFHIF
RO TONETRRNIST

Cuestion id ; 42

10 cm agd@% 20030 Tedeodd ﬁ@ﬁﬁg{ls cm
/I WATW W, TIELT W00 10 cm
BRTUTE), ABRHNG. BTT ,SWoWR)

(A) drars;cﬁa 00 FeT

(B) ti@ﬁéﬂﬁj W) 3 IO

(©) iﬁf:;i‘ﬁ:) @03) sed (D) Eﬁ’ﬁdtfb B 3L T

Question id: 43
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45.

46.

47.

During scattering of light, the amount of
scattering is inversely proportional to

of wavelength of light.
(A) cube

(O) fourth power

(B) square
(D) half

In Young’'s double-slit experiment if yellow
light 1s replaced by blue light, the interference
fringes become
(A) wider

(O) brighter

(B) narrower
(D) darker

According to Huygens principle, during
refraction of light from air to a denser medium
(A) Wavelength and speed decrease

(B) Wavelength and speed increase
(O) Wavelength increases but speed decreases

(D) Wavelength decreases but speed increases

CQuestion id : 46

In a system of two crossed polarisers, it 1s
found that the intensity of light from the second
polariser 1s half from that of first polariser. The
angle between their pass axes 1s

(A) 45° (B) 60°

(C) 30° (D) o°

Cuestion ;47

45.

46.

47.

IS BDRBODG,  BRODRECD  B,5008053
wdoh EE R QURISRRTEEOTT.
(A) Y (B) 7Y,
(@) m@ﬁa’f ?T—.‘J&"n'; (D) E:Htjrﬁ;

Cuestion id: 44

oo I @ﬂfe@o no& Todeenmd), TED wsatﬁ
aﬁ%‘m O Macﬁ et mﬁe:acmﬂcﬁd ﬁeﬁdw
wegﬁm

(A) BNOTMZE

(©) @ﬁwmzmmgﬁ

(B) 30003
(D) TEROZS

Question Id : 43
FNo* T T T[T, WF MOYAI0T  [OT,
IV, 3T, 338, 0LITS TROQTIRN
(A) BTOMPOBT FIBY e FRTOCIRNOZRN

(B) STOM0ST 020 &5en ﬁzaaw nog=
(C) BTOTOZT TR IT STT Fen FRTOCIRTOTTI
(D) STOMR0BT FREOCIPMOZT STWT wen ﬁmﬁgﬁ

Question Id : 46

QT % ri: &Fo0BNY 5&“’053@ NTTE

Ak eﬁadﬁ&ow wcbécb:ﬁ w%f%ﬁ &033,3030

aﬁfawm?aja 3, 3503000 WTOETOT RS @“325 2o

STFTAT. @@ﬁ%ﬂ TORE E:E:?r"“ ne IRRI ﬁ.r‘exia;j
SN,

(B) 60°
(D) o°

Cuestion id : 47
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48.

49,

50.

o1.

From the following graph of photo current
against collector plate potential, for two
different intensities of light 1, and 1,, one can

conclude

Photo current
>

-V, Collector
Plate potential

A) L= 1, B) ,> 1,

O <1,

(D) Comparison is not possible.

Cuestion ;48

A particle 1s dropped from a height ‘H’. The
de’Broglie wavelength of the particle depends

on height as
(A H B) H°
(O)H12 D) 12

The scientist who 1s credited with the
discovery of ‘nucleus’ in an atom 1s
(A) J.J. Thomson (B) Rutherford

(O) Niels Bohr (D) Balmer

Cuestion i : 50

The energy (in eV) required to excite an
electron from n = 2 to n = 4 state in hydrogen
atom is

(A) +2.55

O

(B)
(D) +4.25

—3.4

—0.85

CQuestion id : 51

48.

49.

20.

91.

g WD I, N0W A0R WeT ez, 30D ?j%*%a‘
Nowwrﬁeﬁ T,8 WT,TF T, OB, ﬁe:"ﬁc‘
:)adr.ﬁé wdaajmﬁ %amaﬁ ) zﬁmow o:a#n
et muﬁamﬁcﬁ helale]

13
&
13
23
g A
ﬂi%n /—""_"lz
!
~¥g BT IEL“">
WIS
A) L7 I B) 1,> L,
© 1,< 1, (D) BOT T TP,
Cuestion id ; 48
20030 mm} ‘H’ @m R HZTROT WePIUNG. T30
&, 1N So‘omoéd@ -:::Eo’ﬁ 207 9RO0UITING.
A)H (B) HY
© H”2 D) {12
Question id : 49

WOTI) VORIV K@ﬁﬁcd:# mq TR BT BeSF

T8 DPIIN FOQEFT
A)J 1 @E}&"’D’S‘ (B) OTT* £
(C) Ve winect (D) L0ROT

Question Id : 50
BER, RS’ TTBREVNTE, 20T AT S ) n = 2
Q0T n = 4 TOTF YUT, 3R WIeFOT I8 (eV 1Y)
_____ Clplevicing
(B) -3.4
(D) +4.25

CQuestion id : 51
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92.

93.

55.

56.

57.

In a nuclear reactor the function of the

Moderator 1s to decrease
(A) number of neutrons (B) speed of neutrons

(O) escape of neutrons
(D) temperature of the reactor

Cuestion Id ; 52

The particles emitted in the decay of 77U to

.;SjU
(A) 1 aand 2 B (B) 1 aonly
(O laand 1B D)2 aand 2 B

Question id : 53

The mass defect of jHe 18 0.03 u. The binding

energy per nucleon of helium (in MeV) 1s
(A) 27.93 (B) 6.9825

(O 2.793 (D) 69.825

Cuestion Id ; 54

The energy gap in case of which of the
following is less than 3 eV ?

(A) Copper (B) Iron

(©) Aluminium (D) Germanium

CQuestion i : 55

Which of the following semi-conducting
devices 1s used as voltage regulator ?
(A) Photo diode (B) LASER diode

(O) Zener diode (D) Solar cell

Cuestion Id : 56
In the three parts of a transistor, ‘Emitter’ is of
(A) moderate size and heavily doped

(B) large size and lightly doped
(O thin size and heavily doped
(D) large size and moderately doped

Question Id : 57

52.

53.

55.

56.

o7.

SRFODT®  3,00RFO0NY,  FTOTWTOCL  FORFY)
_____ S, BRI WRTEOFW BNT.
(A) SRER,ING Hoas,  (B) IR, RIS Fent

(C) 3R, &R, 7N BLRZRTONT
o (] W
(D) OCTRTTS wﬁm@
CQuestion kd: 52
:;ﬁEU o3 :;U &30 iojammmﬁ,

YU LI BTV FEAMTO OYROTT
A) 1a™%) 2

© 1a™R 18 D) 2a3 2

SR, 3o0Rs* 1 (MeV nvQ)
(A) 27.93

(C) 2.793

Question Id : 54
85 IPNIPNGY, mgcﬁﬁﬁ DR noa*3 eV No3
BERRO QTS ?

(A) ST, (B) TN

(©) wmﬁm&cm (D) TE0eFVCI0

Cuestion id : 55
B INT T APINTE, OSJ?;@ESE% AN
QOO0 FemoN YUTIRENTOTIT ?
(A) Bpcedne Bedper® (B) CeX0* Bodpew®

(C) OPEIT* BIReT®  (p) APT T, T BeS

Question id : 56

20T E};ﬂﬁwo%‘@mdaﬁ TR PNNTY, 0WT?

wonsy
(A) T MO, T WoR) TR BROHTIZT

(B) BT T8, 30 3R ERCT TRoOTIT
(O) T Mog, ) 23 Beew® TRoQTIZE
(D) TRT, T, TR BG, T ERew® BRoOTIYTS

&,

Question id : 57
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s8. In the figure shown, if the diode forward
voltage drop 1s 0.2 V, the voltage difference
between A and B is

A
0.2 mA
5 kQ2
1l
| |
N
é 5 kQ)
Be
A13V B)2.2V
©0 MO05V

Cuestion Id ; 58

59. Which of the following logic gates 1is

considered as ‘umversal’ ?

W) AT ey B Ay
@ ] > F—

CQuestion i : 59

60. A basic communication system consists of
(a) Transmitter
(b) Information source
(c) User of information
(d) Channel
(e) Receiver
The correct sequence of the arrangement is

(A)a,b,c,dand e B)b,a,d,eandc
(O b,d,a,cand e (D) b,e,a,dand ¢

Quesfion Id : 60

(D} Ao——

Bo——

58, SRCOATOR WB,BQ,, BWOIReE® I PoF B e oot
@9, 0.2 V Eﬁﬁdﬁ@;, A 020 B SROIT 00080

BNTOTT.
Ai
Y 0.2 mA
g 5kQ
|
AVA
§ 5kQ
Be
A) 1.3V (B) 2.2V
(©)0 (D) 0.5V

Cuestion kd ; 58

59. B3 BINT TFFWONWY, OXRFYTI), ITFROOTREET
D900 TWONESRZTI

e S
As—] Ao—]
Qa1 r—3 ™1 F
Queslion kd : 59
60. WOTD FWRY  TOLPTID Qﬁ%m RN
TROQTOZT.
(a) FeR3

(b) & &30

(c) RI&E0OD HUTO3RENTTIT

(d) To% =ne

(e) To,5

= ﬁﬁﬁh;cdj ROOTRT LRIT,:I695y) CIRTY) TOWT
(A)a,b,c,d=0Re B)b,a,d, e ¢

(©b,d,a,cx020e (D)b,e,a,d=0Dc

Question id : 60
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